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Battle of Kirkee was fought during
which of the following war ?

(1) First Anglo-Maratha War
(2) Third Anglo-Maratha War

" (3) First Anglo-Sikh War
@ Second Anglo-Sikh War

‘Who was the Constitutional Advisor to
the Government of India during the
Interim Government ?

(1) Dr. Bhimrao Ambedkar
(2) B.N.Rao

(3) S.N. Kulkarni

(4) Alladi Krishnaswami [yer

Abu Simbel temple of Egypt is

" dedicated to

(1) Sun God

(2) God of Death
(3) God of Wisdom
(4) God of Air

Punic Wats were fought between
(1) Greece & Gaul

(2) Greece & Rome

(3) Rome & Gaul

(4) Rome & Carthage

Who amongst the following rulers of
China constructed the Great Wall ?

(1) Shin Huang Ti (2) Wu Chi
(3) Cheng Tang (4) WuDing

The story of Noh mentioned in Bible is

related to '

(1) Famine which starved all human
being

(2) Flood in which entire earth was
immersed

(3) The boy who fought against
Shaitan

4) War, which destroyed everythmg
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The first Roman emperor,
cohverted to Christianity, was
(1) Augustus

(2) Caligula

(3) Cornstantine The Great

(4) Cicero

who

What was Amphora ?

(1) A great ruler of Roman Empire

(2} A musical instrument of ancient
Greece

(3) A special pottery to keep liquid in
anclent Rome

(4) A weapon used in ancient Greece

The capital bity of Umayyad Caliphate
wHS
(1) Baghdad = (2) Madina .
(4) Damighk
How many Surahs (chapters) are there
in the Quran ? X
(2) 114

(1) 108
(3) 124 (4) 786

The battle of Ther:nopylae was fought
between :

(1) Spana & Athens

. (2) Athens & Rome

(3) Greece City States & Persia
(4) Rome & Carthage

Consider the following - statements

about Ashokan Pillars :

i. These pillars are made of sand
stotie of Chunar.

ii. The shaft pdrt of pillars is
polished without any decoration,

iii. On the top of the shaft a stone is
carved in the shape of mverted

- lotus’.

iv. On the ‘inverted lotus’ there is a
platform on which either human
or animal sculpture is shown.

Choose the right answer :

(1) i,iiandiv (2) 1i,iiandiii

(4) 1i,ii,iil and iv
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The word ‘Aghitak’ is used by

~ Kautilya in the reference of
- (1) Spies

(2) Slaves
(3) Councilors = (4) Traders
What was Udak Bhag in Mauryan
period ? ' :

(1) Anirrigation tax
(2) Custom duty

(3) A pilgrims tax
(4) Land grants to Buddhist monks

The ruler who has been eulogized as
“Shak Yavan Pahalav Nisudan” in an
inscriptional accouit :

(1) Rudradaman

(2) Kharwel -

(3) Samudragupta

(4) Gautamiputra Shatkarni

Which of the following ancient port
was not situated on the Westemn
Coast 7 :

(1) Surparak
(3) Tindy

"(2) Barbarikum
-(4) Korkai

Which of the following Buddhist
‘also  known as
Mahachaitiya of Dharnikot 7

(1) Bhattiprolu Stupa
(2) Amaravati Stupa
(3) Nagarjunikonda

(4) Jagayapeta

Post Mauryan period was the period of
economic growth and prosperity.
Which of the following contemporary
source lists around seventy-five
occupations of the period ?
(1) Divyavadan (2) Mahabhashya
(3) Milindpanho (4} Gargi Samhita
| - 02
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19. 77 Fow & 9N | onifeifad weel # | 19, Read the following statements about

iz : Mathura Art :
i TEde & v .El-ﬁT R i, It was indigenously developed art.
. ‘ _ ii. Local red stone was used in
i. T&WWH@WW Mathura Art. - o
A T iii. In this art form the Buddha is
iii. WM R A I R e R shown with shaven head and bare
3T S Y % wr R T right hand shoulder.
. Ry - : - iv, The statues of Shaka rulers found
. _m*m ? & ﬂ;l’d‘a;‘ﬂa ﬁ et #m at Mat village near Mathura are
g HgYT Fo B also the fine epitomes of Mathura
TPEAE | Am.
TRF A WG s |  Which of the above statements are
' 7
(1) iwii correct
(1) iandiii

(2) 1i,ii9iii

(2) i,iiandiii
(4) i1, i{idTiv . - 4) i, ii, iii and iv

20 fefefaT § @ frg RE 99 R 20. With which of the following rulers,

> Samudragupta adopted the policy of
l?
i i =fifer 7 TR Tl 1 7 Ghrahanmokshanugrih (captured and
(1) et (2) TeE released policy) ?
(1) Matil (2) Rudradev
() I (4 (3) Achyut (4) Ugrasen
21. W@ HRE ) o .| 21. Match the following :
e SRS W = Classical - Work
. 1 - Authors
a. " - "”'”_"i e a. Bhas i, Kiratarjuniyam
b, v DR SRR b. Bhatti ii, Kavyalankaar
¢. oHE $ii. 0T =Y c. Bhamah iii.Ravan Vadh
d. «Et v, Ay SR d. Bhatvi iv. Madhyam Vyayog
a b ¢ d ' a b ¢ d
@O i # v i a1 v
@2 1 i v i

8 Lo W () iv i @i i
IV 111 1 1

| @ i #iod v
@ i i i v -
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Consider the following statements

regatding the achievements of

Aryabhatta :

i. He was the first astronomer to
give ‘a scientific explanation of
eclipses. '

ii. He was also the first to discover
that earth rotates on its axis.

iii. He gave extremely accurate
estimate of the length of a year.

iv. He gave very acclrate value of pi.

Which of the above statements are

correct ? '

(1) i,

(3) 1, iii, 1v

(2) 1,4, ii

@) i, i, iid, iv
Who were Arsar in Sangam Period ?
(1) Ruling Class

(2) Rich land owner

(3) Peasant

(4) Trader

Which of the following is not correct

matched ?
Rajput Territory
Dynasties '
" (1) Chandel ~  Bhaghelkhand
(2) Parmar ~ Malwa
(3) Kalchuri ~  Tripuri
(4) Solanki —  Gujarat

The Indian scholars who played
important role in spreading Buddhzsm
in Tibet :

i. Padm Sambhav
ii. Sangh Rakshit

iii. Dipankar
iv. Kumarjeev
Choose the correct code :
(1) i,1ii &iii (2) i&ii
- (3) 1&iid 4) i,ii, iii &iv
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In ancient literature, which place is
named as Yavdweep ?

(1) Sri Lanka (2) Sumatra
(3) Cambodia (4) Java

Which of the following pair is not
correctly matched 7 ' :
' The year of

Measurement
taken by Akbar  Implementation
(1) Abolition of - 1562
: pilgrimage tax
(2) Abolition of Jazia - 1564
(3) Proclamation of
- Mahazar - 1580
(4) Establishmentof -~ 1582
Din E Elahi

- Who was called Mir Bahri in Mughal

Administration ?

(1) Head of revenue department
(2) Incharge of Royal ships

(3) Head of Royal household

(4) Incharge of Royal ceremonies

- Who were known as Pai Kasht in

Medieval India ? o

(1) Owner of farm land in Northern
India

(2) Landless peasant in Northern
India _

(3) Feudal Lord in Northern India

. {4) Landless peasant in Southetn |

India _
What was Man-e-Akabari in Mughal
Period ?
(1) ‘A book on classical music of
Northern India
(2) A unit of measuring weight

(3) A Persian Masnavi (poem)
authored by Faizi

(4) A book containing miniature
paintings created by Daswant
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Who was the author of Sanskrit work
Janki Parinaya of Mughal period ?

(1) Dhananjay Varma
(2) Jagannath Kavi
(3) Chakrakavi

{4) Nabhadas

Who amongst the following painters
was hot in the court of Akbar ?

(1) BhishanDas (2) Basawan
(3) Sayyad Ali  (4) Mukund

The calligrapher, who inscribed
Quranic Verses on Taj Mahal, was

(1) Abd Al Haq Amanat Khan Shirazi
(2) Ustad Ahmad Lahauri

(3) Mir Abdul Karim

(4) Ustad Ahmad Abdulla Shirazi

Who was the leader of the Rangpur
Peasant uprising ?

(1) Debi Singh

(2) Dhiraj Narayan

(3) Haji Shariatulla

(4) Sahajanand

Which of the following are correctly

matched ?
Civil Rebellion Leader
i. Paika (1804-06) - Jagbandhu

ii. Ramosi (1822-29) — Ram Singh
iii. Kittur (1824-29) - Channamma
iv. FParaizi (1838-51) — Dudu Mia

Codes :
(1) i&iv (2) i,iil &iv
(3) i,i&iv (4) i,ii, iii & iv
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Which of the following is not correctly
matched ?

Books writtenon  Authors
Revolt of 1857

(1) EighteenFifty - S.N.Sen

~ Seven -

(2) The Indian War - V.D. Savarkar
of Independence
1857 o

(3) Indian Mutiny — G.B. Malleson
of 1857

(4) The Sepoy Mutiny — J.W. Keys |

and the revoit of
1857

The . Revolt of 1857 was led in
Ruhelkhand by

(1) Khan Bahadur

{2) Azimulla Khan

(3) Maulavi Ahamdulla _
(4) BakhtKhan

Which of the following statements is
not correct about Gopal Hari
Deshmukh ? '

(1) He was popularly known as
Lokhitvadi. :

(2) To spread social consciousness,
he serially published Shat Patren
(Hundred Letters) in newspaper. .

(3) He also served as judge in
. Ahmedabad.

(4) He also started monthly magaiine
Nibandhmala. '
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The first newspaper, which was
published from Bombay :

(1) Bombay Gazette
(2) Bombay Courier

(3) Bombay Herald

(4) Oriental Star

The List — I denotes Congress Sessions
and List ~ II their Presidents. Match

both the lists correctly : -
List-1 List -1l
. a. 1911, Calcutta i. Bhupendra Nath
Bose .
b. 1912, Patna  ii. Syed Mohammad
Bahadur
c. 1913, Karachi iii. R.N. Mudholkar
d. 1914, Madras iv. Bishan Narayan
' Dhar
Codes :
a b c d .
(1) iv i i i
(2) i iv i - i
3 i i iv il
@) i i iv i

Who amongst ~the following was
sentenced to death in First Lahore
Conspiracy Case ?

(1) Parmanand  (2) Bhagat Singh
(3) Vishnu Pringle (4) Khudiram

" Consider the following personalities :

i.  Annie Besant

ii. Lokmanya Tilak

iii. Jawahar Lal Nehru

iv. Muhammad Ali Jinnah

Who among the above participated in
the Home Rule Movement ?

(1) iandii
@) i,iiand i
4) 1 ii, iii and iv
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43, TERIRA # PR uReg % wEet | 43, Who was the first Indian member in

IR e & : the Executive Council of Governor-
_ General ?

() ® e (1) Sir Satyendra Prasnna Sinha

(2) §E% T HR (2) Satyendra Nath Tagore

(3) W afeeRrs fger ~ (3) Sir Sacchidanand Sinha

(4 3777E TR fret (4) Anugrih Narayan Sinha

4. Frefeiae § @ B9 o Ak @ Y 0 44. Which of the followmg is not correctly

matched ?
Faemrdt Feme Painting Pamter
(1) sHw @Y - ffem (1) The School of |
‘ . Athens ~ Titian
(2) TEER — feraret 3 i (2) LastSupper = - Leonardo da
_ RV aif _ : Vinci
(3) BRRF IEGEH AR e (3) Creation of Adam— Michelangelo

(4) wiftPT R - TR R (4) Laughing Cavalier~ Frans Hals

45. Frfefes & & fee weE & fegim | 45, Who among the following supported

w s Ryt the Doctrine of Predestination ?
(1) dmHfea  (2) Remelt (1) JohnCalvin (2) Zwingli

- (3) HiREA TR (4) S g (3) Martin Luther (4) John Knox

46, Fraffae o & #9 ¥ sabEw W= wem 46. 'Which of the following colony was not

Ffvevee Hip 1 wietfyer 7 g ¢ represented in the First Continental
(1) _ Congrt.ess.‘?. :
: (1) Virginia
@) Heie " (2) Maryland
- (3) i . (3) Georgia .
@) qlm ~ (4) New Hampshire
47. ﬁmﬁf@aﬁﬁﬁ#wﬂaﬁﬁ?w? 47. Who amongst the fo]lowmg was a
(1) i J(l;a;:ol;:{ns?
arat
@ FEAet (2) Madam Rolland
(3) s Ietvs - | (3) Jean Rolland
@) e ' - . (4) Brissot

2 1 | o o
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48, frEs eeg T vgfer qﬁQ 48. Choose the main trends of Mercantilism :
i TemwErswEE i, Efforts to raise exports.
i SR (SIS % O o ii. Emphasis on the net mﬂow of
s @7‘"“'?&) R Eﬁﬂ'a' - bullions.
TS | st Fish oustom ol
iii. High custom rates.
i, 3 A iv. Set up of joint stock companies.
v, R el 7 f " d Which of the above statements are
mﬁﬁﬁﬁﬁ?ﬁwﬁ%‘? correct ?
_ i fiiandiv | (4) i i .
@) i Ty (@) 1, i, il T iv @) i, diandiv (4 LMW and 1v
49. it wit Tt T AfEE 89 | 49, In which field Charles Townshend |
- HaEE e ar? contributed during Industrial
: . ion ?
W ; @) @ Revolutlt':m !
. . _ (1) Textile Industry (2) Steam Power
3) @) & 3) Agriculture . (4) Mining
50, P geE # Afw ok T S 50. Who wrote the book On the moral and
MWW 7 civil primacy of the Italigns ?
, (3) Cavour - () QGaribaldi
(3) =Y (4) Raw .
51, freeas § & 9 @ A HE A | 51 Which of the following is not a
TR T 7 characteristic of Industrial Revolution ?
. « (1) ' The discovery of new and durable
(1) e et Fehrs St @it ot i energy SOUrCes
(2) IR AT Fl TG S (2) The mnew  organization of
' 5 - production system
- ® ?ﬁ'ﬂ (3) Rapid urbanisation
(4) =% TR FT F (4) Emergence of closed economy
52, R TR0 % IR, OO W weR ¥ | 52 The treaty, which took place after the
AT W g W ot battle of Sedan during the process of
< German Unification :
(1) foerm _ (1) Treaty of Vienna
2) W '.gﬁ: (2) Treaty of Prague
(3) EEwe B AN (3) Treaty of Frankfurt
- (4) oEE Y ' (4) Treaty of Verssailles
o L 12 02
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The consequence of Berlin Congress
1878 was '

(1) The influence of Britain increased
(2) Russjan Revolution
(3} End of the three emperors league

(4 The weakening of Young Turk

Movement

The Franco-Russian Alliance, which
made the backbone of Tripple Entente,

happened in the year :
(1) 1882 (2) 1894
(3) 1904 4) 1879

What was Anschluss in Hitler’s foreign
policy ?

(1) Desire to annex Austiia into the

Germany.

. (2) The goal of tefritorial expansion

of Germany.

'(3) Policy of segregation of Jews.

(4) Policy to oppose Russia.

Harappan site from which earliest
evidence of Earthquake like natural

calamity have been found : =
(1) Desalpur (2)- Kalibangan
(3) Kuntasi (4) Rangpur

Where were the first Paleolithic tools
found in India ?

(1) Tekkalkota
(3) Pallavaram

(2) Kurnool
(4) Hallur

The Boghaz-koi inscription (1400
B.C.) from Asia Minor refers to the
following Vedic deities :

(1) Indra, Mitra, Varun and Nasatyés

(2) Indra, Mitra, Dyuas and Nasatyas
(3) Indra, Varuna, Mitra and Agpi
(4) Indra, Varuna, Agni and Surya

(2]
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To which of the following tribes did
King Sudasa described in the Rigveda
as having defeated Ten Kings in
Dasrajna Yudha (Battle of Ten Kings),
belong ?

(1) Yadu
(3) Anu

(2) Tritsu
(4) _ Druhyu

The story of the migration of Videgha
Mathava to the east accompanied by
his priest
mentioned in which of the following ?
(1) Aitareya Brahmana '

(2) Brihadaranyaka Upanishad

(3) Shatapatha Brahmana

(4) Gopatha Brahmana

many Mahajanapads and
Republics of 6" century B.C. have
been mentioned in the Buddh1st text
‘Anguttara Nikaya’ ?

(1) 14 Mahajanapada and 8 Republics
(2) 12 Mahajanapada and 10 Republics
(3) 10 Mahajanapada and 10 Republics
(4) 16 Mahajanapada and 10 Republics

During the reign of which ruler, three
of the great preachers — The Buddha,
Mahavira and Makkhali Gosala
attained nirvana ?
(1) Bimbisara
(3) Udayin °

(2) Ajatashatru
(4) Nagadasaka

Which among the following. pairs is
not correctly matched 7

(Founder) ~ (Sect/
_ - Sampradaya)
(1) Makkhali - Ajivak
Gosala _
(2) Sanjay —  Scepticism
Bellatthipuita
Ajita Nihilism
Keshakambahn :
4) Anuvad

Purana Kassapa—
| 02
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The Stup of Ashoka with his name
inscribed on it has been found from the
Stupa remains of which one of the
following sites ?

(1) Kanaganahalli (2) Amaravati
(4) Deur-Kuthar

Which of the below mentioned
inscriptions of Mauryan period -
provides details related to famine relief ?

(1) Jéughad Inscription
(2) Mahasthan Inscription
(3) Nittur Inscription
(4) Erragudi Inscription

Kshaharata Nahapana’s defeat at the
hands of Gautamiputra Shatakarni is
attested by which of the following
coin-hoards ?

(1) Jogalthambhi
(3) Karle

) N anaghat
(4) Aingurunuru

The biggest-hoard of Gupta gold coins
have been found from which place of
Rajasthan ?

(1) Bairath
(3) Bayana

(2) Bundi
(4) Bagore

Who finally emerged Victorious from

- the ‘Tripartite-struggle’ that lasted for

almost 100 years ?
(1) Rashtrakuta
(3) Pratihara

(2) Parmar
(4) Pala

Which among the following is not a
renowned Greek Philosopher ?

(2) Plato
(4) Euclid

(1) Socrates
(3) Aristotle
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Which philosopher said about the Holy
Roman Empire that “it is neither Holy
nor Roman nor Empire” ?

(1) Voltaire
(3) Diderot

(2) Montesquieu
(4) Rousseau

In which year the Turks captured
“Constantinople”, the capital of East
Roman (Byzantine) Empire ?

(1) 1433 AD. (2) 1453 AD.
(3) 1473AD. () 1493 AD.
Which one of the following is not a
salient feature of the renaissance age ?
(1) Humanism '

(2) Feudalism

(3) Rationalism

(4) Scientific Temperament

Who was called “The Morrung Star”
of Reformation ?

(1) John Wycliffe (2) Martin Lyther
(3) Zwingli (4) John Calvin

Which class was in favour (support) of
‘Republicanism’ in France ?

(1) Jacobins

(2) Girondists

(3) Mountanists

(4) All of the above

Who said that “Spanish ulcer was the
cause of my ruin” ?

0] Ma_ttermch
(2) Napoleon

-"(3) Marshal Fouch

(4) Chamberlain
02
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Bullionism and favourable balance of
trade were the s_alient features of

(1) Laissez Faire
(2) Commercialism
(3) Mercantilism
(4) Capitalism

The Industrial Revolution first started
in which country 7

(1) England
(3) Germany

'(2) France
(4) America

Which was the main obstacle/hurdle in
the Unification of Italy ?

(1) Lack of Nationalism in Italians
(2) Presence of Austria in Italy

(3) Pressure of France

(4) Conservative outlook of Pope

Unification of Germany took place
under the leadership of which State ?

(1) Wurtemberg
(3) Prussia

(2) Saxony
(4) Hanover

During the 1% World War which
country signed Peace Treaty (1917) °
with Germany and Retracted from the
war ? '

(1) Serbia
(3) Italy

(2) Romania

(4) Russia
When did America joip the Second
World War ?

(1) 8 September, 1941

(2) 8 October, 1541

(3) 8 November, 1941

(4) 8 Decempber, 1941
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Where was republic estabhshed in
Germany after the First World War ?

(1) Munich 2) Welmer
(3) Berlin {4) Bavaria

The last Czar (Emperor) of Russia,
who had to face two revolutions (1905
& 1917)

(1)} Nicholas I
(3) Nicholas IT

(2) Alexander II
(4) Alexander ITI

Which country was not the member of
the League of Nations ? '

(1) TItaly (2) America
(3) Romania (4) Serbia

Which Goddess was worshipped as the
‘Goddess of Wisdom’ by the Greeks ?

(1) Athena (2) Apollo
(3) Zeus (4) Diana
‘Mateh List — I with List — IT and select
. the correct answer from the codes
given below :
List -1 List - II
{Kings) (Dynasty)
a. Simhavishnu i Chera
b. Nediyon ii. Pallava
c. Karikala iii. Chola
d. Udayanjeral  iv. Pandya
Codes :
a b ¢ d
(1) i i i iy
@ i v i
@ i i v o
@ iv i i
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87. T -1H eh - IS g wg st | 87, Match List — I with List ~ II and select.

ﬁq%ﬁ@gﬁmﬂwaﬁm: the correct answer from the codes
_ ' given below :
-1 ER-I List I List — 1T
g () - (Text) (Author)
a. TR i Foeaee a. Manimekalai ~ i. Tiruvalluvar
b. Rt i o e b. Tiromurai ii. Ilango Adigal
- | ¢. Silapadikaram iii. Nambi Andar
c. PomteRe il wfe sweR At P .
Nambi
d iv. ¥WN d. Kural iv. Sattanar
e -Codes :
a b ¢ d a b ¢ d
M @ v M #wivoi
@ i @ i v @ 1
. . . 3 1 1 iv il
3) n 1 iv il

(4) iv il i 1
@ iv i i i :

g8, g -IFEH - I3 gm AT AR | 88, Match List — I with List — II and select

ﬁm@ﬁ-@mﬁwwmqﬁﬁm the correct answer from the codes
' B given below :
-1 - List - I List - II
('Tﬁ TRTE) | (=) (Sufi Terms) (Meaning)
Ca WEA L QO TiaetE W e " a, Barkat - i SufiHospice
b, T i RRETEE b. Futuh ii. Unasked charity
e, TETE ' i quﬂ - c. Malfuzat iil. Convel:satlon ofa
Sufi saint
d. G iv. O JH F D d. .Khanqah iv. Spiritual grace
m - acquired by a Sufi
T ' ~ Codes:
a b ¢ d | ' a b ¢ d
QO i v i il () #i iv i i
@ i i v @ i i v

@) iv dio-di i @ iv i i i
@ i i i v

@ i i i v

02 _ 19 o
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Match List — I with List — I and select
the correct answer from the codes
given below :

List -1 List-II
a. Nagsbandi  i. Shaikh
Order Badruddin®
Samarkandi

b. Shuttari Order iji. Shah Abdullah

- ¢. Qadirtya Order  iii. Khwaja Bagi

. Billah
d. Firdausi Order iv.Shah
Nayamatullah
Codes : .
o a b ¢ d
(1 ii i iv - 1
) i ii i iv-

3 v i@ i
@ i iv i i

Match List — I with List - IT and select .

the correct answer from the codes
given below : :

List — 11

List - I
a. Dadani i, Mughal Imperial Order
b. Sanad - ii. Bill of Exchange
¢. Dastak iii. Advance paid to the
- primary producers
d. Hundi ~ iv. Permit issued ‘to the
: European Traders for
the purpose of. tax
exemption
Codes :

1) di i v i
) i H i v
@) i iv i i
@ i i

| 02
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The view that anything can be taught

.at any stage of development was

expressed by
(1) Piaget (2) Ausubel
(3) Bruner (4) Gagne

Which of the following is not a

defence mechanism ?
(1) Association - (2) Regression

(3) Compensation (4) Sublimation

“Give me a dozen of healthy childrep,

I can make them doctors, ]udges,

teachers, beggars and even thieves.”
This comment was made by

(1) Hull "~ (2) ].B. Watson
(4) Guthrie

Which of the following is not a
characteristic of good achlevemem
test 7

(1) Reliability
(3) Ambiguity

(2) Objectivity
(4) Validity

“A person’s psychological and
physical environments are identical” is
the view of

(1) The Functionalists

(2) The Structuralists

(3) The S-R Associationists

(4) The Gestalts Field Psychologists

Stanford Binet Scale measures the

‘following attribute of an individual :

(1) Intelligence
(3) Aptitude

(2) Creativity
(4) Personality
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97. According to whom “Educational

* Psychology describes and explains the

learning experiences of an individual
from birth to old age.”

(1) Skinner (2) Crow & Crow
(3) Peel (4) Pillsburg

The family imports educatlon to the
child

(1) Formally
(3) Deliberately

98.

(2) Informally
(4) Regularly

Internet Explorer is a type of
(1) Operating System ‘
(2) Compiler

(3) Browser

(4) IP Address

100. Theory of Intelhgence given by
Spearman is

(1) One Factor Theory

(2) Two Factor Theory

(3) Three Factor Theory

(4) Multifactor Theory

101. Which of the following is the correct

sequence of motivational set ?

(1) Goal directed behaviour, attainment
of goal, drive, satisfaction
Drive, goal direct behavioyr,
attainment of goal, satisfaction
Drive, satisfaction, attainment of
- goal, goal directed behaviour
None of above

(2)
&)
4

Rorschach’s  Projective  Test is
designed to measure

(1) unconscipus intentions

(2) dream

(3) conscious desires

(4) Al of above

102.
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The concept of extroversion and
introversion in personality was given

by

(1) Kretchmer (2) Sheldon

(3) Jung (4) Spranger
Video Conferencing can be classified

as one of the following type of
communication ?

(1) Visual one-way

(2) Audio-Visual one way -

(3) Audio-Visual two way

(4) Visual two way

Which of the following won Nobel

Prize for his Pioneering work on

learning in the year 1904 ?
(1) RM.Gayne (2) I.S.Bruner
(3) Lev Vygotsky (4) Ivan Pavlov

Kohler developed

(1) S-R. Bond Theory
(2) Insight Thecry

(3) Field Thccry

(4) Conditioning Theory

The concept of life long leammg is the
outcome of

(1) shortage of school in the country
(2) people’s desire to learn more

(3) country’s need for a large number
of educated people
dynamics - of expansion
knowledge

(4) of

The right order of the structure of
mind according to Freud is

(1) SuperEgo-1Id - Ego
(2) 1d - Ego — Super Ego
(3) Ego -~ Super Ego-Id
(4) 1d - Super Ego—Ego -
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Which of the following is most
important quality of a teacher ?

(1) Punctuality
(2) Content mastery
€))

content mastery and communication
competency

sociability

(4

What is characteristic of pre—operatmnal
stage according to “Piaget” ?

(1) Image formation
(2) Symbolic process
(3) Logical thinking
(4) Hypotheses

Which of the following is not the level
of teaching ?

(1) Memory level teaching

(2) Abstract level teaching

(3) Understanding level teaching
(4) Reflective level teaching

Which is not related to moral
development of adolescent learner ?

(1) Family
(2) School
(3) - Physical structure
(4) Movies and books-

The determinant of cognitive
development is

(1) Family (2) Schoal

(3) Ageandsex (4) Genetic

According “McDougall” the number

of emotion is ‘
1) 14 2 10
4) 16
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Founder of Behaviourism is

(1) Watson (2) Thorndike
(3) S.Freud (4) Yung

Which of the following is not an
example of “constructivist” learning ?

(1) Experimentation .
(2) Field trip

(3) Classroom discussion
@) Textbook reading

The correct cycle of communication is

| (1) Sender-message-receiver-feedback

(2) Sender-message-feedback-receiver
(3) Sender-feedback-message-receiver
(4) Receiver-sender-message-feedback

Inquiry training Model was developed

by
(1) .Suchman (2) Vilmon
(3) Skinner . (4) Kohler

Which of the following is not a type of
computer ? '

(1) Micro computer

(2) Mini computer

(3) Poly computer

(4) Mainframe computer

Which of the following is correct with
reference to computers ?

(1) 1KB = 1022 Bytes
(2) 1MB = 1024KB
(3) 1GB = 1022 MB
4 1TB = 1026 GB
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In Indian culture Sanskars are :
(1) Religious rituals

(2) Purifying ntuals

(3) Conventions

(4) Sacrificial rituals

The famous Bolan Pass is situated in
(1) Badkhsha (Afghanistan)

(2) Quandhar {(Afghanistan)

(3) Balochistan (Pakistan)

(4) Khyber Pakhtunkhwa (Pakistan)

Which émongst the - following
Mahajanpadas was situated on the
North-Western border of India ?

(1) Madra (2) Gandhar
(3) Sauvir (4) Kamboj

Which of the followmg are correctly
matched 7

Neolithic.  Salient Features
Sites
i.  Burzhom - Pit dwelling
Koldihwa -~ Remains of rice
dii. Utur -~ Ash Mound
iv. Mehrgath — Oldest Neolithic Site
(1) i&iv
2) i,ii &iv
3) i1 &iv
i, i1, iii & iv -

@

Consider the - following statements
about the Pashupati Seal of Harappan
civilization :

i. It was found at Mohen-Jo-Daro.

ii. A human figure in Yogic posture
“is depicted on the seal. '
Marshall coined it as Proto Shiva.
A pictographic inscription of six

- symbols is inscribed on the seal.
Choose the right answer :

(1) i,iiandiv = (2) iiandiii
(3) iiandiv (4) 1,1i, iif and iv
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126, ‘Match the fdll(_)wing -

Artefacts Site
a. Redstonetorso i. Mohen-Jo-Daro
of a man
b. Stone statuette of ii. Harappa
bearded man '
c. Abronze model iil.Lothal
of chariot having
man & dog ~ iv.Daimabad
d. Terracotta model
of boat |
a b ¢ d
(1 iii i iv il
2 i i iv i
3) i i iv il
(4) i i dv. i

The differential feature of Later Vedic -
Period is :
(1) Eastward expansion of Atyans

(2) Use of metal

(3) Emergence of political institution
of Sabha & Samiti

Emergence of empires

(4

Which of the following is not correctly
matched ?

Samhita Text Brahman Text

(1) Rigveda —  Kaushitaki

(2) Samveda —  Adbhut
Krishna —~  Shatpath
Yajurveda ' '

'(4) Atharvaveda -~ Gopath

Which of the following Upanishad cohtains
Yajnavalkya-Maitreyi Samvaad ?

(1) Maitrayani  (2) Bruhadaranyak
(3) Chandogya (4) Kathopanishad
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The ritual, which is performed before
birth : .
(1) Jatkarm - (2) Vratadesh

(3) Samavartan (4) Simantonayan

Which of the following is not correctly
matched ?

Philosophical Philosopher

~ School
(1) Nyaya - Akshapad Gautam
(2) Sankhya — Ishwar Krishna
(3) Mimansa -~ Jaimini
4) Aajivak  — Ajit Keskambali

Consider the followihg statements
about Mahajanapada penod '

i. The petiod is also known as the
period of Second Urbanization.

ii. Northern Black Polished ware is
- associated with this period..

iii. New ideas in religious affairs
+ emerged in this period.

iv. Tron was first discovered in this

period.
Which statement/s is/are not correct ?
(1) ii&iv (2) ii
3) i&iv 4) iv
Match the followihg :

Clan Republic
a. Videh 1. Sunsumar
b. Koliya ii. Kapilvastu

" ¢. Shakya iti. Ramgram

d. Bhagga ~ iv, Mithila |
Codes :

(1) i v #n i
2y i 1 v il
(3 v 1 o#a i
4) 1w a4 v i
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The play Swapnavasavdatta is based -
upon the life of the following
Mahajanapada ruler :
(1) Ajatshtru
(3) Pradyota

(2) Udayan
(4) Bimbisar

To whom Buddhist cahnons refer as
Niganth Natputra ?

(1) Mahavir Swami

(2) Makkhali Putta Goshal

(3) Gautam Buddha

'(4) Pakudh Kacchayan

Therigatha is a patt of
(1) Vinay Pitak
(2) Sutta Pitak

(3) Abhidhamm Kosh
(4) Anguttar Nikay

Which of the following is not correctly
matched ?

Foreign Native Place
‘Traveller
(1) Al-biruni - Uzbekistan
(2) MarcoPolo - Italy
(3) Ibn Batuta —  Morocco
(4) Abdur Razzaq — Turkey

- Choose the incorrect pair :

Administrative

Department

(Sultanate Age)
(1) Wizarat _
(2) Diwan-i-Arz : Ariz-i-Mumalik
(3) Diwan-i-Insha : Barid-i-Mumalik
(4) Diwan-i-Risalat : Sadr-Us-Sudur

- Chief Officer

: Wazir

Arrange the following Sultanate rulers
in chronological order :

i. Mubaraq Khilji

ti. Khusaran Shah

iii. Muhammad Shah

iv. Alam Shah .

Choose the correct code :

(1) i, i,id &iv () i, i, &iv
3) ii,iii,i&iv  (4) i,ii,ili &iv
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In the .Sultanate architecture 1ine.
Arebask was used, in order to

(1) Provide strength to the buildings
(2) Etect dome

(3) Construct arch

(4) Decorate the buildings

Hindola Palace is situated in
) Adina
(4) Dhar

(1) Jaunpur
(3) Mandu

Which of the following cities was
famous for its raw silk and muslin in
Sultanate period ?

(2) Multan
(4) Daulatabad

(1) Sonar gaon
(3) Anhilawara

Who among the following Bhakti
Saints is mainly famous for his Ram

Bhakti poetry 7
(1) Vidhyapati (2) Surdas

- (4) Jaidev

Abhanga means .

(1) Devotional poetry dedlcated to
Vithoba .

Temples of Varkari sect

Dancing style,
Varkari temples

)
(3)

practiced in

Religiotis code of Varkari sect

‘Who was Zamoritt 7

(1) Rehglous head of the Portuguese
in India.

Leader of Arab merchants in
India.

The Muslim ruler of Cochin.
The Hindu ruler of Calicut.

(3)
C)
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(1) Treaty of Madras
" (2) Treaty of Srirangpatanam

GET IT ON
Google Play

In sultanate period ‘Sondhar’ was
(1) A cess on land revenue
(2) A tax levied on canal water

(3) A special tax levied in Gangetic
Doab :

(4) A loan given to peasants for the
agriculture development

Who a'mongst. the following rulers
defeated Dutch in 18™ century ?

(1) Haider Ali
(2) Tipu Sultan
(3) Asaflah
(4) Martand Varma

The ruler who tried to introduce
Widow Remarriage in his state ?

(1) Ranjeet Singh

(2) Raja Sahu
(3) Abhilya Bai Holkar

(4) Sawai Jaisingh

The British, who obtained permission
to start factory at Surat :

(1) John Hawkins -

(2) Thomas Roe
(3) Job Charnock
(4) Henry Vansittart

The treaty which took place after the

(3) Treaty of Mangalore
(4) Treaty of Mysore
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